PR Number: GF-2024-10-02898

PPMP Number: PPMP-2025-100224-0753

Office: UDRRMSSO **Purpose:** office supplies

N T -	T4 N	0	0	MOD	Chalina
1	ALCOHOL, Ethyl, 500ml	Quantity 15	quarter 1	MOP Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 90.00 Quantity: 15 Total Cost: 1,350.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
2	Air Freshener, Scented Gel, at least 180g, Lemon/Orange Scent	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 180.00 Quantity: 2 Total Cost: 360.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
3	Battery, Alkaline, 9 volts	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 209.00 Quantity: 5 Total Cost: 1,045.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
4	Battery, Alkaline, Size: C, 2pcs/pack	12	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 88.00 Quantity: 12 Total Cost: 1,056.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
5	Clip, Double Binder, 2" (approx. 51mm) , Black, 12 pcs/box	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 68.00 Quantity: 10 Total Cost: 680.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
6	Clip, Paper, Big, Plastic Coated, 100pcs/box, (55mm) 120 grms	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 25.00 Quantity: 5 Total Cost: 125.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
7	Clip, Paper, Small, Plastic Coated, 100pcs/box, (33mm)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 15.00 Quantity: 5 Total Cost: 75.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
8	Envelope, Document, Brown, 150 lbs, Short	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 4.00 Quantity: 10 Total Cost: 40.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
9	Envelope, Documentary, Brown, 150 lbs, Long	20	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 6.00 Quantity: 20 Total Cost: 120.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
10	Envelope, Expanding, with garter tie, blue, long	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 18.00 Quantity: 10 Total Cost: 180.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
11	Envelope, Mailing, white, long, 500pcs/box	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 519.00 Quantity: 4 Total Cost: 2,076.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
12	Epson L6290 001 Ecotank Ink Black	7	2	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 585.00 Quantity: 7 Total Cost: 4,095.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
13	Epson L6290 001 Ecotank Ink Cyan	5	2	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 5 Total Cost: 1,945.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
14	Epson L6290 001 Ecotank Ink Magenta	5	2	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 5 Total Cost: 1,945.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
15	Epson L6290 001 Ecotank Ink Yellow	5	2	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 389.00 Quantity: 5 Total Cost: 1,945.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
16	Flashlight, rechargeable, LED, 220-240V 50/60Hz, duration time: 10 hrs (low torch), 2.5 hrs (high torch)	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 1,600.00 Quantity: 10 Total Cost: 16,000.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
17	Folder, File, Long, 14pts, White	25	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 25 Total Cost: 225.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
18	Folder, File, Long, 14pts, White	25	3	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 25 Total Cost: 225.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
19	Glue, Multi-Purpose, White, at least 130g (118mL)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 88.00 Quantity: 5 Total Cost: 440.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
20	Infinity Rain Coat (free size)	55	2	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 490.00 Quantity: 55 Total Cost: 26,950.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
21	Laminating Film, A3, 100 shts/box, 250 microns	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 3,445.00 Quantity: 1 Total Cost: 3,445.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
22	Paper, Bond, A4, S-24, 80 gsm	15	1	Competitive Bidding	PO #: PS-DBM Q25-01445 Bid Price: 213.86 Quantity: 15 Total Cost: 3,207.90 PO Amount: 918,396.32 Supplier: PROCUREMENT SERVICE (PS-DBM) Obligation Number: Q25-01445 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
23	Paper, Bond, A4, S-24, 80 gsm	15	3	Competitive Bidding	PO #: PS-DBM Q25-01445 Bid Price: 213.86 Quantity: 15 Total Cost: 3,207.90 PO Amount: 918,396.32 Supplier: PROCUREMENT SERVICE (PS-DBM) Obligation Number: Q25-01445 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
24	Paper, Bond, Long, S-24, 80 gsm	5	3	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 270.00 Quantity: 5 Total Cost: 1,350.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
25	Paper, Bond, Long, S-24, 80 gsm	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 270.00 Quantity: 5 Total Cost: 1,350.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
26	Paper, Bond, Short, S-24, 80 gsm	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 220.00 Quantity: 5 Total Cost: 1,100.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
27	Paper, Bond, Short, S-24, 80 gsm	5	3	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 220.00 Quantity: 5 Total Cost: 1,100.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
28	Pen, Ball, blue	40	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 6.00 Quantity: 40 Total Cost: 240.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
29	Pin, Push, hammerhead type, asstd colors 50s/pack	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 32.00 Quantity: 3 Total Cost: 96.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
30	Record Book, Big, 300 pages	5	3	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 154.00 Quantity: 5 Total Cost: 770.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
31	Record Book, Big, 300 pages	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 154.00 Quantity: 10 Total Cost: 1,540.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
32	Record Book, Big, 500 pages	14	3	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 183.00 Quantity: 14 Total Cost: 2,562.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
33	Record Book, Big, 500 pages	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 183.00 Quantity: 15 Total Cost: 2,745.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
34	Staple Wire, #35	6	1	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 35.00 Quantity: 6 Total Cost: 210.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
35	Stapler, HD No.35	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 200.00 Quantity: 2 Total Cost: 400.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
36	Toilet Bowl Cleaner, at least 500ml	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 170.00 Quantity: 5 Total Cost: 850.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
37	smartphone load	1	1	Competitive Bidding	Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT